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' ' 27 m
' | A triangular plot of land has sides _that measure ;
| i 21 m, agnd 18 m. The longest side lies against the straight
Thsthma;cin:!ll:ngm edge of a river. What is the maximum width of the land?
width of a le .

is its height. | .
A. Show where the 27 m, 21 m, and 18 m go on the

diagram.
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'j:: Q\G 8)(2 7) B. Show uﬁat you need to find on the diagram. ‘
’ CD S LC = O : 69\(7 6 C. Before you can calculate the maximum width if the '

triangle, you need to determine one angle.({ the

L C — 5 O (?D law you can use to calculate £.C.
e | .

sine law cosine law

Z C = ; / D. Calculate 2 C by completing the table below. Then fill
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in the blanks.
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. E. Use your answers for parts B:and D to label the T
ﬁ diagram.
B
N 18

A% .

.@p [ ' to calculate

| ~the trigonometric ratio you can use 1o

+ ° ; he maximui width of the triangle. Then fill in the
S'n _5( _“._Q.. blanks. )
' adjacent _ oppost
H in A= O CosA= l tan adjacent
D Sin hypotenuse hypotenuse
—_— . l
NIh >l = \% g b
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J X 51.0°= X —
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G. Write a conclusion. What is the maximum width of
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4. Each leg of a stepladder

ladder is open, the two legs form an angle of 40° at
the top. How far apart are

hypotenuse, and the angle %*

shown.

1 L "--
the trigonometric ratio Al . c & |
te the [ ol

you can use to calr,:ula | -
base of the right triangle. Then B’*’\é{% 4
fill in the blanks.
R adiacent opposite 4
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is 2.0 m long. When the

the legs at the bOﬁom?O |

Btb

Show where the 2.0 m and 40°
go on the diagram.

Show what you need to find on
the diagram.
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Fill in the blank to complete the
sentence.

A

v
’b@

Since two sides of the triangle
are the sa

me length, the
triangle is __)%@35_‘,@—_6

This type of triangle can be
divided into two right triangles
as shown. On one of the right
triangles, label the base, the
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12. A surveyor wants to calculate the distance, BC,
across a river. He measures AC, and then 2B and LA .; ;;5.1,
as shown. What is the length of BC?

414 57 (A
LB=37" b ‘—%?j”f
[ L= 3(1 i

,07 7 m .the law you can use to calculate BC.
- cosine law
%sn 5 @%‘@7

Calculate BC by filling in the blanks.
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